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5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
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PART-A
MR- D

Note : Answerall questions. Each guestion carries 1 mark. (1x40 = 40)
BRus : oo, ﬁjé‘g"r{v’aigt eUZ0R. I3 @‘ajﬁ 1 308,

1. The lens used to construct a Microscope

a) Convex b) Concave

c) Biconvex d) Biconcave
ARY, BTFE BodROER B3R ENRR FORRT 03T ?

a) e saed b) &), SoReT

C) Q263 WRRT d) Q-3 =RRT

2. Most likely event which can cause a rise in the average temperature of earth’s
atmosphere in future is — "
a) Forest fires
b) CO, from fossil fuels
c) Dustclouds from volcanoes
d) Depletion of earth’s ozone layer
POHTY, edoch BmpEREEy, RooRd TTRBRFE NOFR oIwE ;acsdmzsaocs
Hoggmbs mE g 3 ?
) o,
b) WHO3PT VOTINPOT YVOLRME BOTRERRY,
c) asadc;:adnsfﬁrf@od BROBRTE FRYI TBRBN
d) $HBRACL LERE ITOT RS
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3. Plants with green and tender stems are called
a) Herbs
b) Shrubs
c) Trees
d) All of the above
Bbkas) saoza’aﬁeﬂ;‘ GADlelA s von] m’;ﬁ;ﬁ@dg{ N ~ o1 0} . 6 0V bbn (6]
a) n@
b) Baedw
c) =0
d) 30e0 DI

4. High Yielding Variety Seeds (HYV) were introduced to Indian farmers as a

result of

a) White Revolution b) Green Revolution

¢) Red Revolution d) Orange Revolution
T A0 B asez;rfda'igt W0 dort wazﬂomacid TOFBOTFeD ?
a) 3 @mos b) Batw08

C) BoFB,03 d) s2¥mos

5. Who is known as the father of Indian Monsoon Mode| ?

a) Madhavan Nair b) Vikram Sarabhai
¢) Vasant Gowrikar d) C.N.R. Rao
RTIE Hoeroth @RS SRcony ws Q0T QuRTR) FSedenns 9
a) PRI oo* b) B=* moogRose
C) WO ROFo" d) & OFF.GT. oa®

& abey i
- oy ¥
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6. Who was the father of White Revolution ?

a) Dr. Norman Borlaung b) Dr. M.S. Swaminathan
c) Dr. Varghese Kurien d) K.N.Bahal

YPTE $¢0 52,0305 BOTT CIRd ?

a) woll FOF* Wdeeoon® b) wall 0. . W) OWFT
c) well BherA® BOCRT d) 3.7, wac*

7. Scientific management of animal livestock, breeding and diseases control is

a) Animal husbandry b) Animal based farming
¢) Bothaandb d) None

WEDTTING RN DR, 9 LRI T Teer A3 et

a) W AR b) 9,63 5ER0OZ g

c) a R b 20ER d) cinzmde vy

8. Antimicrobial drugs that are derived from the natural processes of some
microorganisms and that can inhibit or destroy other microorganisms are

specifically known as what ?
a) Chemotherapeutic drugs b) Prophylactic drugs
c) Semisynthetic drugs d) Antibiotics

Reg 2teand SANFE wolowond wImE foR) AeY,R - wE BRONT B3
A8 22T Herop BRE. 83 GuBHRvaD; QOFEERN Dot FEebeRTHZE ?

a) gdeegide BRg b) Sre AdReT BRG
c) ¥o- ¥ R d) T sBRegEned

SPACE FOR ROUGH WORK
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9.

10.

11.

Detergents are better than soaps in removal of greasy dirt because

a) They have longer fatty acids than soaps
b) They have surfactants which make them interact with greasy dirt
¢) They contain less sodium and potassium

d) They are water repellents

BREFFLO WWATONNOE YUZSN BER 308 TRRBIGS. 5906

a) DURINCE Bed B senva Brolss

b) doeegﬂ fﬁﬁﬁr#rﬁ'@ﬂmﬂcﬁd& ‘c‘in‘%‘j BRYoIAEE Wer I wasewTdoehd
c) 38 Aredado wE) FptPacdio Eeohad

d) om) wolBepnsd

The process of softening of hard water by using nanoparticles is known as
a) Nanopurification b) Nanoremediation
¢) Nanofilteration d) All of the above

£
e}
2

WRee ﬁmqﬂrrf#ag_ euEodmens Qe shrorteems @iﬁ,cdsod:fa‘g -
FCCDDRMZT.

a) m,3ee :—",oc?aeédm b) m,SeewOmT
c) WIre BRI d) S0 Que

Blue revolution being envisaged by the Govt. of India is aimed at

a) Increasing industrial production of blue dyes

b) Augmenting pulse production

¢) Enhancing aquaculture products both in brakish and fresh water

d) Increasing fish production in fresh water

LPUB WOBTY B8 FINE 03233 5398, 2eF, 0800 qiecifaec?pw’ﬁ:g‘ RRWRRZE ?
a) e WRB IO w%‘g’ﬁfﬁdi BRI

b) Q¢ qmagrﬁ;»’ SV TedRoIT

C) At 3308) ARNTT LQFORY, 08 #3880 g e3RYTd

d) 2OV QRS T YUBTTRD BURYT et Eing
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12.

13.

14,

Which of these two provide proof of excellence of Indian metallurgy before
industrial revolution ?
a) Damascus swords of West Asia and iron pillar near the Qutub Minar
b) India gate and Gateway of India
¢) Tippu Sultan’s sword and palace
d) None of the above
3 BN Cdns BAMD Frwd® Te80D HATLO §PRTSECHT oINS TPBGT Q0@
ARSERNTINS ?
a) IO 07,0 BSRFA S 03 BOW® QETTT LVCW 'ﬁ’t?jatﬁ Bow
b) sac@cdm rets W) et sle wap QomcdR
c) &%) RERTT 88 3302 LTS

-

d) Foeds cnEe By,

Which one of these depletes the ozone layer and causes global warming ?
a) Nitrogen dioxide b) CFCs
¢) Ammonia d) Allthe above

37 SR 03I WRIND e 232000t BRE RN 33»:1)‘\;3&:3 Fater.al
FogeaE NS ?

a) MWIRIFE & wE & b) gRsdne FRETRE RWFT
C) @&EREICIR d) B0edT OTP

What is the maximum speed possible for any wave in the solar system ?
a) Every wave can have its own speed b) Speed of light

c) Speed of electron d) None of the above
FR0BUTY), cINYTe Lot B AR, TS 93,08 e, ?

g St ST =0 dc—‘rma’:i TBROTINTBIT

éL
8
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15. Washing soaps contain
a) Potassium salts of fatty acids
b) Sodium and calcium salts of fatty acids
c) Potassium and sodium salts of fatty acids
d) Sodium salts of fatty acids
FpPoden eVBeIRENTR TRRINED B1 39AE ol LTI B 9
a) AU SSTY FptdAcho U
b) 3.@?.35 TR 9, doto 2 AReBO%0 VT
C) 3w wainy Aneaodo TR FPERAOL0 vF
d) BewE w=iny Anerodoe vmn
16. Primitive observers defined natural phenomenon as an activity of
a) Super natural forces b) Humans
¢) Machines d) None of the above
SRRETOH PO WO 1R88 B3 cdhoom DI B3 @'io@;rﬁ@aﬁg{ IR« .
mdmga@a‘ﬁad).
a) BT T b) SRTED
C) cdoZrish d) oeds cdnecie vy
17. Science and Technology in Ancient India is a work by
a) Joseph Needham b) D.P.Chattopadhyaya
¢) Sushil Kumar Mukherjee d) John Bernard
"ER3e3 ERTETY, e O W S P 85 YEs Secdsh
a) BRKT e b) &. & wdnmgs o
C) Rodeer BImRTT BRI d) e weratE
SPACE FOR ROUGH WORK __-_.‘:.E'_;';{:.,__'.
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18.

19.

20.
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DNA Finger Printing is used in Forensic testis based on

a) Matching of the DNA sequences from specimen’s crime site and suspects

b) Matching of the DNA sequences from specimens at crime site and suspect’s
parents

¢) Matching of the DNA sequences from specimens at crime site and suspect’s
children

d) Allthe above

25 wP (Forensic) @’c&mcmmojadef)ﬂDNA v30gs), OB TR o &SI

=i &R0

a) FHeIww xj;éde.’)ﬁ 53 InTON 0B Fotd FBOD DNA e235830 BROTEHE

b) e BYS BP0 oY BoseSa o3 eorem Z00200308 DNA RBRIT BT

c) Pum S WRTO =3 Bos3d @gy DNA 3800 BROWILR

d) Soed8 HURP

The radiant energy of the sunis dueto

a) Nuclear fission b) Nuclear fusion
¢) Radioactive decay d) All of the above
Apodr s &80 JFOID IRYTOoTNTE ?

a) DY b) =000 RS
c) 2802 TER d) 30 PO
Origin of Speciesis a work of

a) Mathew Arnold b) Charles Darwin
¢) Albert Einstein d) Sigmund Freud
pses 2503 Qe Sesscd

a) w%ma YTF T b) RS (PN
c) CBOEFF NI R d) arjos* WP, e

SPACE FOR ROUGH WORK
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21,

22.

23.

24.

New way of thinking, sparked by a philosophy known as

a) Humanism b) Socialism
c) Behaviorism d) Politics
Bex sdeeSSnon modoing 32 25 T

a) ST b) ARz
C) WIrmomed d) oewmdecdd

The latest satellite launched by India is

a) Astrosat b) Rohini

c) GSAT 18 d) INSAT 3DR
g eedn 110y U YU B CSRT)TO ?

a) wiR w9 b) deedrd

C) B -18 d) am & -3DR

A social science is the systematic study of
a) The natural world b) Models of reality
¢) Human behavior and society d) Experimentation
TR Q2% T 4 FINT IR TR0 5 cHTTNS 9

a) gxnes Dzowd b) Fmon &ndo

C) TRTS JEFF 0 e d) @scdeengs
Who laid down the first accurate laws of motion for masses ?
a) Nicholas Copernicus b) Galileo
¢) Oldham d) Einstein
S0 wOr B o8N om QodENTR) FDTFN FITOLTBRT
a) FBROF FRCTIFTT b) ¥dcine
C) .o d) 2526
[~ ed

(A

AR s

SPACE FOR ROUGH WORK
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25. Photovoltaic energy is the conversion of sunlight into

a) Chemical energy b) Biogas
c) Electricity d) Geothermal energy
B 8QTTRTT BEod0 FITTFOIR), Chbsentiavcial
a) TIRROINE T b) zj&s Law
' c) e 38 d) yipzmed B8
26. Protected land for conservation of wild life, plant and animal resources and
e traditional life of tribals living in that area is known as

a) Sanctuary b) National Park
c) Biosphere reserve d) All of the above
B 3en, R ) 79,63 Howey Tone AR OTTIOWT WOTWTLL), WIT BT RoTFFMN
peiessial s D303 FBCRI ?
a) ejodndey b) Doy eoh NWTFII
c) wewriney d) R0ed 2ORP

27. What was the first disease to be treated with a specific chemical ?
a) Tuberculosis b) Syphilis
c) Bacterial meningitis d) Whooping cough
QOFE TIRRCNE BRGowod 1383rieday Sk SRt aPoid CIREHTO ?

(e a) god deent b) a%O=°

c) om0 &, T d) S0 33N

28. Radioisotope used in production of nuclear weapons in India is
a) Uranium b) Plutonium
c¢) Thorium d) Radium
PO R, Sodnosodd) evmcdmenibss mdmmz%om(isotope) (Ehita
a) cindedodo b) Fptdnccdoe
c) FRedobo d) de@odo

| SPACE FOR ROUGH WORK
A
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29.

30.

31.
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Which of the following is an example of genetic variation ?
a) Two children have different eye colors

b) One person is older than another

¢) One person has a scar, but his friend does not

d) Todd eats meat, but his brother Rod is a vegetarian
FINIZNYO conaYch emmodd snmeriis YUTRI/TBOIRAT ?
a) uied wied B3 26 BROOT TR AR

b) w.epneg ST m:a%

€) W) R0ed Bpoteh s Hkodart 0% BOOTHZD

d) @en® IRomad $d BwEs gy oo AR, E0

The moons of Jupiter are called

a) Satellites b) Simpleton

c) Galilean d) None of the above

rOTNEE YR @) HFcth Fahennd 9 |

a) wIRTA b) Acwerume

c) fddodwr d) Boed cInPse By

~——————and____ aretwo major discoveries of 15t century which le

to expansion of white colonies outside Europe.

a) Spinning machine and telescope b) Gunpowder and steam engine

c¢) Gunpowder and Mariner's compass d) Mariner's compass and telesc

L2 w02y — CootRemReir wRodxd Swaend IRoRR momn et

15 Se 333RIT ded F@wo SITRIND.

a) s cdog, 02 BROBSFT b) =008 P& o vun oo,

C) S IR R WRTI ALIoI% d) SET L8R DV Entolemroia

o SPACE FOR ROUGH WORK <.~ , o
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32. Non-conventional sources of energy are
a) Nuclear, Biomass, Wind, Thermal
b) Geothermal, Ocean, Solar and Nuclear
c) Biomass, Solar, Wind and Tidal
d) None of the above
&R0 OB QORI TARVNED
o a) TORRE, B0, O, D
b) %RTD, WNC, 3°0 o) VIRRED
¢) 23eRTed, BT, WaCI1 o) FSw we..;}da@é

d) FoeOT CBRFTE Y,

33. GreenHouse gases such as carbon dioxide and methane cause
a) Increase in planet's surface temperature by blocking sunlight
b) Decrease surface temperature by absorbing sunlight
¢) Increase planet surface temperature by trapping moisture
e d) Increase planet surface temperature by trapping the heat in the atmosphere
22,058 SRONTIT YoROT B8, T BV QTS
a) BRCHFS FTLANTS) BED PRITID, SRS
b) ReobFE AT 20 LRI FoTRR TRE TRTEYS
c) eDe3mE) RO 23R&00I ﬁaeegﬂaazddsi;i @a?fogﬁ
d) sozesded ma)aém*ézéso@da paocd shed FWII, gl

SPACE FOR ROUGH WORK
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34. Internet can be defined as
a) A software program installed on a computer
b) An electronic device for printing documents
c¢) A world-wide collection of computer networks
d) A power backup source
woéoﬁmm&f@ B3 FTNT0Z 559,809, SR ERITH
a) TEPToRCTT. SRMRAT %ot R e
b) TadSnF=s oaFen vvsednends DDNE WE
c) é:)aicmt:fa.o:s’ neageoegny e Roni®
d) 2B BeDTROD WP
35. The fear of GM crops for human consumers are due to
a) Lack of information on long term effects on biodiversity
b) Religious practices are against modifying a species
¢) Foreign genes in food may cause cancer
d) All of the above
BIRCI0 BeNY YUBSNOT 1, BT BT T0e0
a) 2= PO s aPYnS DeprROT BT Wi TRSNPLOTI T
b) T we3d@odd), Yy svsednens dses
C) B WRFFIFYTE BRoONS 22eadrish F,T0 LUOLITRES 0%
d) 00T wese

SPACE FOR ROUGH WORK —.,
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36. Scientific studies of nature is necessary in society for
a) Simple curiosity and improve people’s lives
b) Economic development and enlightenment
¢) Increasing control over our planet and its environment
d) Allthe above
Renwudd) DB e etésodsﬁr{fﬁ 53383 (o) o)
Fe a) BBRTBOOT TR WS 23638 RGO
b) sdFs wwﬁe_@} TR __{;Ememza’é
¢) %Rao =8y o TR0 008 Q030630 MHRRT
d) I QTP

37. Which of the following is a weather sensing satellite ?

! a) Astrosat b) Radarsat
¢) Meteosal d) INSAT 3DR
B BINSYNID) CERTTO TR Ros3ed suEnE® ?
| a) YRR b) CworimAn i
‘ ) 3
TiC c) QotScdpeAp, d) sa'mte 3DR

38. Father of Indian Nuclear Programme is
a) J.C.Bose b) HomiJ. Bhabha
c) Vikram Sarabhai d) C.V.Raman
1790853 Ho5REa0 C3RREOD KT8

a) .2 B b) FERe0 . gRYRA ©
(& JRR; oregaplenianiensy d) 2.8. CoRF°

SPACE FOR ROUGH WORK e
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39. First Nuclear Power Plant set up in India is
a) Narora Atomic Power Station established in 1979 at Maharashtra
b) Tarapur Atomic Power Station established in 1969 at Maharashtra
¢) Tarapur Atomic Power Station established in 1969 at Uttar Pradesh

d) Kakrapur Atomic Power Station established in 1969 at Gujarat

Ces S s0%) cIRdE Tov Y, yRTER FRFR et T AEOR) AR
a) 1979 g mmm%d@m AR&8 Fdeed B0 m@dtﬁ

b) 1969 B8 mmmﬁucﬂém m@&d DTFT 950 530

C) 1969 89 g0 IB@HY, waT ToIT e o)

d) 1969 d9) ﬁaum@‘ﬁ@mm@m’ FFTT” L0 W3

40. Which of the following technological advances are affecting human cognition,

emotions and ethics ?

a) Bus, aeroplane, microwave ovens

b) Boilers, metro trains, television

c) Internet, cell phones, digital communication devices

d) Submarines, radars, missiles

NS odnw swods ez&%@po:b WEIND SIRTIF 20T, RS oy I8 soedd
0rs0E) 1eTHSS 7

a) wa, D[R, BYER el . (oven)

b) kD, #oue den, deddsr s

C) @030, B Jpex® TOETT B3 I

d) ®eRoIMmF 0T s, ST, w0 83cd

SPACE FOR ROUGH WORK - W\
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PART-B
aRn- W
Note : Answer all questions. Each question carries 2 marks. (15%2 = 30)
RS o BINd Ik B B3 2 woned.
41. Which of the following definition for ‘Science’ has been coined by Carl Sagan ?
a) Science is a way of thinking much more than it is a body of knowledge
b) Is an intellectual activity carried out by humans
¢) Science is a knowledge covering general truths of the operation of general laws
I d) All of science is uncertain and subject to revision
i RO AT T BFT NNFS DINIY)
a) NRFY RWF3 PomoRug sepedm SRRFERNGg
! b) RRINTO SER 20T e,j’a%ﬁ 236303838
I C) MRRT, A, B WR, Dodsns ﬂmﬁﬁdﬁm@#ﬁmozﬁ WP
d) 2wRFE SuRe SROFR, 308 BOHTEN wWIRRZEE),

42. Difference between hybrid and transgenic or GMO plants

a) Hybrids live longer and transgenics live shorter

b) Hybrids arise due to cross pollination, while transgenics are produced by transfer
of specific genes from different species

c) Hybrids are generated from grafting but transgenics result from germination

d) Genes in hybrids are under breeders control, but in GMO plants they are
uncontrolled

Q0T T BoPoBO FINTNTOR FF]/B

a) WIBEND DEPF PP, B0 BVUTOV WEBIES

b) ©0339rieh er Doorsedooied KEeInTS, Foe0030 IPNED OFF, wEIodecd
Bean¥iay p3es w8000 m;ri@;cd CEniallivenlnioplyial

c) Q0TBORYR) BRSRBRYT0OT FOARONTS , RITOTONHR) BRFEC0T BUIROTTIZT

d) 203zenvd £2:3033098 Braneh BANDTY K)o:iaograd@mcﬁ% , BOOR0BONGE), BT WFDY,

SPACE FOR ROUGH WORK
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43. The observed increase in the average temperature of the air near earth’s surface
and oceans in recent decades is

a) Environmentchange b) Global warming

c) Health change d) None

B eSS oY) esoes 5 3 aﬁa@mﬁddﬁmﬁaaamﬁdq FOTOLICOTIE DOFOTN
a) BRRNT WEAT b) @nés s2m=mnswE Hog

C) €0RNT WERTE d) omREe v

44. Match the Philosopher/Scientist with their contribution :

Scientist Contribution
A. Aristotle i. Three laws of motion
B. Newton ii. Laws of inheritance
C. Gregor Mendel iii. Gravitational force
D. Galileo iv. Scientific methods
a) A=iii,B=i,C=iv, D =ii b) A=iii,B=iv,C=i, D =i
c) A=iv, B =i, C=ii, D =iii d) A=ii,B=i,C=iv, D = i
g2 mQ/ amﬂa@r{#@_‘ 5530 0RO ERoHATS RocinG BeohE -
D RN
A. sompe? i. Boge Bt 3TN
B. dqus i, e0Todeoty Sodxatned
C. Ano® Socder fii. mode BRFE B3
D. rddoine iv. %m@ﬁ QTR
a) A=ii,B=i,C=iv, D =ii b) A =iii, B=iv,C=i D =i
c) A=iv,B=i, C =ii, D = jii d) A=ii, B=i,C=jv, D =ii
SPACE FOR ROUGH WORK \h '
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45. For a fixed mass of gas at constant temperature, if we decrease volume, the

pressure will

a) also decrease b) increase

¢) remains constant d) none of these

%dmd TOTWRRT/ YOEROTEY, 20T ﬁgad SR T@E oedeD Boses(volume) Eﬁﬁg{ B0
SRR, wSEW &g,

a) s@3eiRMZE b) émurbgﬂ

c) %dmﬁdzgcﬂ d) 0eds cdnm@e e

46. How stationary waves are formed ?
a) Atransverse wave superposing a longitudinal wave
b) Two waves of the same speed superposing
c) Two waves of same frequency travelling in the same direction
d) Two waves of same frequency travelling in the opposite direction
?\éd SN Bert LUotNIBES ?
a) Lot BZF e HUEiEHedd Bdedront S weba)Even
b) 2083 e TR 2SN 2.0830 BoeedRomd WTRYTOT
C) 2.08¢ &3 300 OB LS wotde D3O, WARF oo
d) z.otie 553000 20RD VLN J0T 08FY WOFEoos

47. Nano smart materials that alter shape under the influence of an electric field is
a) Thermoresponsive materials b) Polychromic materials
c) Electrochromic materials d) Piezoelectric materials
AT IRT ﬁamaﬂ:@ocﬁé&% md»:ﬁdgt LTS CRT T, e 10Ts(nano smart)
Es[wplataat=re) 0T BBC30ED.

a) U 88 c WRGF D b) waxSras WRQNEL
C) TR FER T [N d) Frinedd s SwNd

SPACE FOR ROUGH WORK
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48.

49.

50.

Second stage of the industrial revolution

a) Consumable goods production b) Capital goods production
¢) Standardization d) Productivity

g0t 52,0800 ORESE B0y BRI, ﬁouoc‘;ﬁmci% 9

a) MRS RUBNY LTS b) woz=ed FoBNY s
C) @esesden d) eversd

Which of the following is true for “Sound” ?

a) Sound cannot travel through a vacuum

b) Sound cannot travel through gases

¢) Sound cannot travel through liquids

d) Sound cannot travel through solids

‘Sag;éﬁ 4 3INS cdnPhch ROBRTIBS ?

a) A (vacuum) Beed BORnod b) eReny Roee ¥R
C) TWNE BT WORHT d) PSR Bwees B3Ot

Which statement best describes the structure of an atom ?

a) Atiny nucleus of protons and neutrons with electrons orbiting around it
b) A positive core surrounded by electrons packed tightly around it

c) A particle comprised of a mixture of protons, electrons and neutrons

d) Alarge core of protons and electrons surrounded by neutrons
WoTRE0IR), B3 BPNT 0l Bewd 30R8S 9

a) TREANT® B VR WINPT 8RR, VUF ) It waBredy 3o womh A, geor
b) 25 5 Nver 2B3m0n oth Fde $eod,

C) TR RT, AR DI TN D Y QP £ar3 2000 Bed

d) SRERI TP RBWOT T et 88y @dm@ﬁr{fﬁ 20t TR geor

SPACE FOR ROUGH WORK S
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51. Heliocentric model of Nicolas Copernicus explains the motions of planets
a) Motion of astronomical epicycles
b) Motion of heavenly bodies around the earth
¢) Motion of planets around the sun
d) Motion of satellites around the planets
VERCVT® FRETIFTT I RRT, Feo BROENY ¥os BRDocsRBomT, naEny
wosoha) 83 S¥nsed €G3 FRLIBOT.
a) e LOIE De3ch WO
b) e¥R00N AoF emedmotony wus
¢) AR nEne BuF
d) nENY 08 woEnmny o
52. Ancient Indian knowledge of theories on human body, symptoms of disease and
remedies in ayurveda are made available in which Sanskrit text ?
a) Arthashastra b) Charaka Samhita
c) Chandasshastra d) Aryabhatiya
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a) CBFTR, b) 2308 Z0&3
c) q:’odaaéa‘é d) sgitiecd
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53. Informed public with science and technology background are necessary in a
Democracy.

a) To convey to state necessity and feasibility of intended science business

b) To deliberate on diverse views on merits and demerits of technology to select
right ones

c) Tobring transparency in technology based business, policy-making on vital issues
d) All of the above
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54. Importance of information technology in education are
a) Faster access to information from across the globe
b) On-line libraries and dictionaries, make grasping and learning easier
c) IT based communication systems such as emails, SMS help interaction for clarity !
d) Allthe above
850009 Tnied BoZeaa TR0
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55. Maich the scientists and their discoveries -

Scientist Discovery
A. Alfred Nobel i. Vaccination
B. Edward Jenner ii. Electric bulb
C. Newton iii. Gravitational force
D. Thomas Alva Edison iv. Dynamite
P 8 A=ii,B=iC=iv,D=i
b) A=iv,B=iii, C =i, D=ii
c) A=iii,B=iv,C=i,D=ii
d) A=ii,B=i,C=iv, D=iii
BN D Dt AT 530 SOTW,BNOT B0 :
NDR SR
A. eﬁ%ﬁf IV o i. oag
B. addw‘mﬁaiof ii. Q@ Dew
lig C. Spuz i, modoze garee Zg.
D. mosba® B, 2B iv. Ry
a) A=ii,B=i,C=iv, D =i
b) A=iv,B=iii,C=i,D=ii
¢) A=ii,B=iv,C=i,D=ii
d) A=ii,B=i, C=iv, D=ii
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